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Interested in inference about :

⇒ =NUT= P( 4--1 / E- 1) hit
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① Difference in proportions : Ti-Tlz = Q

② Relative risk (risk ratio) : ,¥-
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probability
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"

the-⇒ } " odds for gmpz
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Statistical Inference on a single parameter 0 = ft
, ,
Tz) :

① Estimate : ⑤
(Point estimate)

② Standard error of estimate : SECS) →
would expect your

- how close yowirobsered estimate § is
to the true 0

,
on average

,

over many samples

Sampling distribution of -8 → distribution of possible
values of § overall

possible samplesPdt÷- esn-mauohsrd.mu

of§ = standard
error

a =

① D- = Tl
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-Tlz - Difference in probability of success

Estimate : É = TÑ - tz
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Pooled SECÉ) =JÉT
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Central Limit Theorem ⇒ É

ti -ai ri N ( Ti -Th ,fÉ)
F- for large n ,
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Rule of thumb → I 5 an 10

successes - failures
(1-2) 100% in each group .

→ Conf
.
Interval for 0 :
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.
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= 0.227 = 0.187

§ = 0.04 - Interpret -

SELE) = 0.066

. → See R file .

E

② ⑦ = 1T¥ -risk ratio

Estimate : É = #⇐ → Sampling dish . oh
this is highly skewed

.

=) Inference on log- scale -

Large samples ⇒
Estimate logo = log (E) Loyd INC logo,
sc-u.sn = ÷F÷H
Approximate ( largeÉ% ctfu logo :

logI ± zk.SE#.EJ-- ( L , V)

G- for 0 = ( el
,
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Ex ¥÷ = 1.214 → get : (R file)

( T¥z - 1) ✗ 100% - increase (positio)
decrease (negative)

I.214 → 21.49 . increase

0.8 → 20% decrease
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